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COMMERCE
Paper — llI

Note : This paper containseventy five (75)objective type questions bio (2) marks eachAll
guestions are compulsory.

1. Read the following and select the right code :

Statement — 1 : A custom to be valid should begwed to be immemorial but may not
be ancient.
Statement — Il : The principle of judicial decisiowhich is only authoritative is known

as ‘ratio decidendr’.
(1) Both the statements are true.
(2) Both the statements are false.
(3) Statement — | is true but Statement — 1l is false.
(4) Statement — Il is true but Statement — | is false.

2. To become a director incompany the person must obtain

(1) Business Licence (2) Director’s Licence
(3) TIN (4) DIN
3. Which of following is not &Maharatna” industry in India ?
(1) CIL (2) SAIL
(3) OIL (4) GAIL
4.  Match the items of Columnwith those of Column — I :
Column — | % (Column—11 {
a.  Exchange control L. Adverse BOP
b.  Price control il." ¢ Domestic firms
c.  Import control Yiil. Mass consumption product
d. Legislative control ™ iv. Industrial location
Codes :
a b c d
@ i i i v
(2) iv i i [
(3) i i [ iv
(4) i i [ )Y
5.  Match the items of List +with those of List — lland choose the correct code :
IList — | List — Il
a. _ Provision for taxation I Current Assets
b.  Live-stock ii.  Unsecurelbans
c.  Sundry Debtors iii. Fixed Assets
d. Interest accrued on unsecured loans iv.  Provisions
odes :
a b c d
Q) iv i [ ii
2) iv i i [
(3) i v i [
@) i [ v
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6. A, B and C are partners in a firm sharingffis and losses in thetra of 4 : 3 : 2. They
agreed to take D intpartnership and gave h%lshare. What will be their new profit

sharing ratio ?
Q) 4:3:2:1 (2) 28:21:14:9
(3) 28:21:14:8 4 4:1:2:1

7.  From the following information, find out the nunrkad units that must be sold by the firm
to earn profit oR 80,000 per year.
Sales price ¥ 25 per unit
Variable manufacturing cost-12 per unit
Variable selling costs 3 per unit
Fixed factory overheads¥5,00,000
Fixed selling costs ¥ 3,00,000

(1) 60,000 units (2) 88,000 units
(3) 98,000 units (4) 1,00,000 units
8.  Which of the following is not a cash inflow ?
(1) Decrease in creditors (2) Decrease in debtors
(3) Issue of shares (4) Sale of a fixed asset

9. Match the items of List — | with those ofdti— Il and indicate theorrect code from the

following :
List — | List —lls

a. Postage stamp pricing i { Equality of marginal and average cost
b. Loss leader « lif  Constant average and marginal cost
c.  Economic capacity \ ill. Product line pricing
d. Reserveapacity __” iv.  Differentiapricing
Codes :

a b c d
@ i v i
(2) iv i [ i
(3) i [ i v
4 i i v il

10. For the following two statements of Assen (A) and Reasoning (R) indicate the correct
code :
Assertion(A) : Low initial pricing for new products is regarded as the principal
instrument for entering into mass markets.
Reasoning(R) : Firms generally go for production of new products with excess
capacity initially.
Codes:
(1) Assertion (A) and Reasoning (R) bothe arorrect but (R) does not offer full
explanation for (A).
(2) Assertion (A) and asoning (R) both are wrong.
(3) Assertion (A) is coect but Reasoning (R) is wrong.
(4) Assertion (A) and Reasoning (R) both eoerect and (R) offers full explanation for
(A).
Paper-Ill 4 J-08-16
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(4) =@ (A) T T (R) 1 W68 T (R), (A) 3 T S S e |

J-08-16 5 Paper-Ill

www.examrace.com



11. For the following two statements of Assen (A) and Reasoning (R) indicate the correct
code :
Assertion(A) : Gossen’s first law of consumption iisvariably applicake in case of
individuals’ consumption behaviour.
Reasoning(R) : It serves as an important detenant of demand for the goods and
services in the market.
Codes:
(1) Assertion (A) and Reasing (R) both are correct.
(2) Assertion (A) and Reanring (R) both are incorrect.
(3) Assertion (A) is corrediut Reasoning (R) is incorrect.
(4) Assertion (A) is incorrediut Reasoning (R) is correct.
12. Production function for a product is based aantain assumptiongndicate the correct
code from the following :
(a) Complementarity
(b) Substitutability
(c) Producelasticity
(d) Specificity
Codes : 7
1) @ ((b) (o)
2) (b) (c) (d)
) (@ (c) (d)
(4) (@ (b) (d)
13.  Which one of the following is not treharacteristic of normal distribution ?
(1) Mean, median and mode for the normal distribution are equal.
(2) The two tails of the normal curve extetmdinfinity in both directions but never
touch the horizontal axis.
(3) For different values of standard ddiaa, the height of the mean ordinate remains
the same.
(4) The number of independent comts of normal distribution are X, andc.
14. Which one of the following foroiae is used to calculate the standard error of coefficient
of correlation between 25 pairetdservations of a sample ?
(1-P (1-P
1) Jn 2) (n=2)
1- n-—2
3) (0.6745{% 4) {1_—@))
Paper-Ill 6 J-08-16
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12. T IR H IRA Hold F TS W 3R & | Fefofad § & T8 o & =957 Fiu
(@) T
(b)  Tfcr=aERT
(c) 3R SAraierar
(d) Faferear
&<
1) (@ () (o
(2) (b) (c) (d)
) (@ (¢ (d)
(4) (& (b) (d)

13. frefafed 8 & S O amr faeror i e T8 & 2
(1) |m faeRon o forw A, mfere 37 gt ST 8l € |
(2) T Tk % Ty T 3T femeT § SR ded & Sk ot off st o 1S9l FE A © |
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(4) T TR0 % e TR B g@ N, X 3R 6w |
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w L2 @ \%=3
(3) (0.6745(%) (4) g'_;é))
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15. Read the following statements and choose the correct code :

Statement —1 : Non-parametric tests are based omeassumptions about the parent
population from which the sample has been drawn.
Statement — Il : The standard deviation of the sdng distribution of mean is called

standard error of mean.
Codes:
(1) Both statements are true.
(2) Both statements are false.
(3) Statement — | is true while Statement — Il is false.
(4) Statement — 1 is false while Statement — Il is true.

16. Match the items of List — | with the items bist — Il and indicate the code of correct
matching :
List —1 List—11
i. Contingency coefficient for N =n ; ;
any size of contingency table & N —1° 1 (
ii.  Statistical approach to decide Sﬂd‘ »
size of a sample b. 7 !
iii.  Finite population multiplier , 2
e [\7Ys
iv.  Standard error of mean 2 52 ¢j ;
g : y
—Eez ==
A /
Codes :
a b C d
@ i i i v
(2) iii v [ i
3 i i i v
4) i iiiv [

17. Which of the following is a deterioration afental efficiency, reality testing and moral
judgement that results fmin-group pressure ?
(1) Harassment (2) Group think
(3) Group burnout (4) Group control

18. According to Fiedler's contingency modef leadership, favourableness of situation
depends on which combination of the following ?
(@) Leader-membeelationship
(b) Member-membaeatelationship
(c) Leader’s position power
(d) Degree of task structure
(e) Degree of training

Codes :
(1) (a), (b) and (c) (2) (a), (c) and (d)
(3) (c), (d)and (e) (4) (a), (b) and (e)
Paper-Iii 8 J-08-16
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15. fr=tciiad st ol Uy 31X el e o 92 DT ;
T — | TS TR 3 Ol N % TaY U FF HRIIel W ST B €, S ot

e |
HT — || T & Wiaaa [SeRoT & A foaer S TTeT S Hie 96 Fed © |
ETE
(1) TAFETE |

(2) SHIFHE AT E |
(3) FF — | TE§, Salh U — || T € |
(4) T — | TR &, STk He — || W T

16. et — | 1 TR 6 G — || Bl HGT % A GHfAd HIT SR Get GHoH o P i Feafed i ;

T — | =t — I
i, T ot ST St STTeRNHSRAT dlfeteR N—-n :
Eac cate ey R () a \IN-1 7327
i, TASYT % MR B TURT HH H o™ . |
fo ifterepia sarm b-/\‘/% ]
iii. ST T s £
C'.' 2+ﬁ
iv. e o A et 22_12
d  —2 .
&<
a b C d
@ i i i v
@) Qi ivo0 i
@) i i i v
@) i i v

17. Fr=foiiad o | SH 91 UG ORI SRTAT, Fe TReTT 31X i i 1 ey & S 99 § & &
T & IO & ?
(1) sl (2) wgEEE
(3) W AR (4) e

18. ISR & g o TP HaeT o AR Fefd 1 3Fper Hfarad & fohg TaeH W iR e
T2
(@) a-ge= ey
(b) - Gy
(c) = it Tt =t wifekT

(d) & S T
(e) f¥retor =t HEAT
&<
1) (@), (b)3R(c) (2) (a), (PR (d)
(3) (c).(d) 3R (e) 4) (a), (P (e)
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19. The apex body at the highest level of timét/division, which oversees the functioning of
quality circles, is called
(1) Facilitator (2) Coordinator
(3) Steering committee (4) Supervisory committee

20. Which of the following is related to the practical means of determining a moral course of

action ?

(1) Meta ethics (2) Virtue ethics

(3) Normative ethics (4) Applied ethics

21. Match List — | and List — Il ad indicate the correct code :
List — | List — Il \

a. Convenience goods i. Consumer purchases them frequently,
immediately and with minimal effort. ¢

b.  Shopping goods i. Consumer comparesithem on the basis
of suitability, quality, price and style.

Cc.  Speciality goods ii. Thesef are “goods with  unique
charagteristics or prand identification.

d. Unsought goods iv. Comsumer are not aware of them and
normally do Sot think of buying them.

Codes :

a b c d

@ i v i i

2) i i v

3) iv i i [

4) i [ v

22. Which of the following marketing strategiés/are not used in fgwth stage’ of the
product life cycle ?
(1) Improving quality and adding new features.
(2) Adding new models of product.
(3) Entering new market segments.
(4) Using awareness and trial communications.

23. Who among the following take(s) both title to and possession of goods from the preceding
member(s) and channelize them to the subsequent members ?
(@) Agentintermediaries
(b) Merchanintermediaries

(1) (a)only (2) (b) only
(3) Both (a) and (b) (4) Neither (a) nor (b)
24. Which of the following is not a determinant of service quality ?
(1) Reliability (2) Responsiveness
(3) Sensitivity (4) Assurance
Paper-Il| 10 J-08-16
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19. fordl T/ o S0 TR W UHT ared e, ST uEl Heel o RGeS TR0 ST &,
FEd ¢

(1) graemRmr (2) T
(3) T T (4) wdeRi QM
20. frfefaa & & FiF 9 S i Afdes wipar FeRon & =i e @ gEfd § 2
(1) ery-Aifaeme (2) T AT
(3) 3RV Hifceme (4) AN Ao
21. gl — | S Gt — || § GHlH HITT Td T&l Fe i ST DIl ;
e — | = — I .

a.  gousHS Sl . mﬁwﬁwwwﬁwm
ERGHEE N -

b. THER TR i, ST S o sugemdlwaﬁﬂﬁ"
T AA F MR WHTE

c. fafme awqy ii. Wﬁmwwaﬁwéﬁ
T

d. vt awqy iv. Wﬁwﬁmﬁﬁaﬁ?%aﬁr
T 37 BRI bl Fel | € |

ETE

a b C d

@ i v i i

@ i i i v

@) v i i i

@ i i i v

22. frefelad 3§ | $iF-9 SR OEIaar 6 SEn, ST Stiad sk & Gty Saer § Tl A S g ?
(1) T 5 GER 3R ¢ faeivant Sre
(2) SR % T FTET B ST
(3) T ISR Wel H Fa HAT
(4) STRTESAT 3R TRISTOT THEOT ST ST AT

23. frfciad § ¥ A Joadr 98 (TEH) ¥ 9% 1 86 31X FHeA S & ol & 3R 3 SRadt 9aet
= ST & 2

(a) IR TERy

(b) =R ey

ETE

1) #= (@) (2) = (b) ‘

(3) (2)3R (b)sHi (4) (a)a1 (b) & T
24, Frefafad & & A 91 JaT ToreT o Ui T E 2

(1) TaveE (2) SR

(3) HegrTRiteT (4) FE
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25. Sales of a firm ar& 74 lakh, variable cost§ 40 lakh, fixed cost§ 8 lakh. Operating
leverage of the firm will be
(1) 1.48 (2) 1.78
3) 131 4) 242
26. From the following techniques of capitdudgeting decision,ndicate the correct
combination of discounting techniques :
l. Profitability index
II.  Netpresenwvalue
[ll.  Accounting rate of return
IV. Internal rate of return
Codes :
@ |1 1]
2 nm v
3 |1 v
@ 1 m v
27. Insufficient working capital may result into which combination of the following ?
l. Failures to adapt to changes.
[I.  Enhancement in credit-worthiness of the firm.
Ill.  Reduced availability ofrade and cash discounts.
IV. Reduced volume of sales.
Codes :
@ L v
2 L v
3 LIV
4) L1
28. Which combination of the following represents the assumptions of the Walter’s dividend
model ?
l. The company has a velgng or perpetual life.
[I.  All earnings are either reinvestedernally or distributed as dividend.
[ll.  There is no floatation cost for the company.
IV. Cost of capital of the company is constant.
Codes :
@ |1 1]
2 nm oV
3) |1 v
4 1 m v
Paper-Ili 12 J-08-16
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Torshar AT o AT

[ I v
[, 11, 1V
[ 1V

[ 11, 1

Frfeifiad 7 9 9 91 GAISH aTeed o AT Higel sht ARt &l Afdided il & ?

l.
Il.
[I.
V.

YA

(1)
)
®3)
(4)

J-08-16

ST T STRA SPETRIA 47 e & |

Tl 3T A1 Al AT H YA B & 37 o o &9 § {oaia @t ¢ |
FHAT % foTT e e e e ¢ |

ST TGS o R |

I 1 I
| I | B\
I v
| 11—V
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29. Match the items of List — | with the item$ List — Il and indicate the correct code :

List — 1 List—1I
a. Job specifications I. The procedure for determining the
duties and skill requirements of a job
and the kind of person who should be

hired for it.
b.  Job description ii.  Alist of human requirements
c. Job analysis iii. A list of job’s duties, responsibilities,
reporting  relationships,  working [
conditions and supervisory /
responsibilities. J
Codes :
a b c
@ i i i
(2) i i [
(3) i i [
4) i [ ii
30. A training technigue in which traineesedirst shown good management techniques in a
film, are asked to play roles in a simulhtsituation, and are then given feedback and
praise by their supervisor is known as.
(1) Behaviour modelling (2) Role playing
(3) In-house development center (4) Management game
31. Which combination of the following statemeigscorrect about the code of discipline in
industry ?
(a) It aims at preventing disputes by providing for outside agency or adjudication.
(b) Itis a government imposeahvoluntary principle of discipline.
(c) Itrestrains the parties from unilateral action.
Codes :
(1) (a), (b) and(c) (2) (b)and (c)
(3) (a)only (4) (c)only
32. A conciliation proceeding is deemed to be pending until any combination of the following
conditions is fulfilled :
(a) a settlement is arrived at a memorandum of settlement is signed by parties to the
dispute.
(b) no settlement is arrideat, the report of conciliation officer is received by the
appropriate government.
(c) a reference is made to the courtloquiry, Labour Court, Tribunal or National
Tribunal during the pendency of conciliation proceedings.
Codes :
(1) only (a) is correct. (2) only (b) is correct.
(3) (a) and (c) are correct. (4) (a), (b) and (c) are correct.
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29. T — | TSI B Gl — || Bl B[ b T GHCIT ST 3R Tl Pe ST Mo ;

30.

31.

32.

= - | =t - I

a. A M . HE % FAl IR BRI W STURTSH W
e e ot WishaT 3] 39 forT wig W
ToTT ST et Aot 31 TP

b. A faaor ii. TS GO STavEeeT w gt

c. M faveror iii. o % e, A, Rfen ey, wE W
et 3R TesTt ST & gt \

a b c

@ i i i

@) i i i

@) i i i

@ i i i

T HeRT 3781 A o 7T el STl & 3R 3o I9aq Mg & STt & U SHeh Teeteh §RT T i
ST &, 3 Fd & -

(1) =R waey (2) et fee
(3) AR fererr (4) YEET T

FET F SFPRE-Sfect o Yoy 7 Ffcian e o e o W T g 2
(@) T ITITT TRT TSN BT ST AT A0 | aay st FHarer e ¢ |
(b) T TREHR FRT &7 T ST ST fogid & |

(C) T& TR i THIRIT HRATE § VAT § |

ETE

1) (@), (b3 (c) (2 (b)3R (c)

(3) % (a) (4) = (c)

YoTE Tt AR T T Wi G S & ST qe foh Fefeiiad o ¥ e / ot 9ais @ o g Tl
BA T

(a) U & ST & 31X foars & e UeTehRT gRT HTH 09 5T ST & |
(b) = T Tl e & R qHE WG o Gote SRl s RUie U & St ¢ |

(C) JolE AR & eI e o SR ST =AM, ST =ARTeH], ~TIMeRioT a1 L —Ireehor
I T 9T 1 ST € |

G YA
(1) A ()T | (2) A (b) W E |
() (a)3X(c)T&E | (4) (a),(b) 3R (C)TE |
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33.

34.

35.

36.

37.

Identify the correct combination of statents with regard to banking in India.

(@) For many years the presidency banks had acted as quasi-central banks.
(b) The Bank of Hindustan was liquidated during 1829-32.

(c) General Bank of India was an unsessful bank and was dissolved in 1791.
(d) Bank of Calcutta was renamed as Bank of Bengal in 1921.

Codes :
(1) (a), (b) and (c) (2) (b), (c)and (d)
(3) (a), (b) and (d) (4) (a), (b), (c) and (d)

Which combination of the following methods indicates quantitative methods of control of
credit creation practiced by the Reserve Bank of India ?

(a) BankRate

(b) Open Market Operations
(c) Variable Reserve Ratios
(d) CreditRationing

Codes : ,
(1) (&), (b)and (c) (2) (@), (b)and (d)
(3) (b), (c) and (d) (4) (&), (c) and (d)

Which one of the following development fingacinstitutions in India has started the
special refinance scheme for the resetti@ma&nd rehabilitation of voluntary retired
workers of the National Textile Corporation of India ?

(1) IDBI (2) SIDBI

(3) ICICI (4) None of the above

Read the following statements and choose the correct code :

Statement—1 : Small Industry Development Bank of India (SIDBI) was set up as a
wholly owned subsidiary of RBI.

Statement — Il : SIDBI has taken over the responsibility of administering small
industry development fund managed by IDBI.

Codes:

(1) only () is correct. (2) Only (Il) is correct.

(3) Both (I) and (ll) are correct (4) Both (I) and (ll) are wrong.

Under the Foreign Trade Policy 2015-2020|ofeing additional ports are allowed for
export and import :

(a) Calicut Airport, Kerala

(b) Rajkot Airport, Gujarat

(c) Arakonam ICD, Tamil Nadu
(d) Ludhiana Airport, Punjab

Codes :
(1) (a)and (c) (2) (a)and (d)
(3) (b) and (d) (4) (c)and (d)
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33.

34.

35.

36.

37.

YRA H ST o T | et AT o TS i Fafeta i

(@) % Ty a% UFASH Fehi 7 TP B o T H i fpar o |

(b) T T 3 EGEA B A 1829-32 H IR UIRGH Y {5 1T o |

(C) YR T SFIXCT % Ush 3TheT 5o o7 3R 39 a9 1791H 7 oY feam T |
(d) S 3Tt SeTehaT B T Y 1921F e 3Tt STeT Y fSaT T |

A

1) (a), (b)3R (c) (2)  (b), (c)R (d)

(3) (a)(b) R (d) 4) (a), (b), (cPR (d)

ffoiad § ¥ ®F 91 TASH 9RAE RS o 5RT SRR | o T8 96 g a0 s JemeTs
TR ST T & 2

(@) FHT

(b) TF ISR TohaTeReTd

(c) uRacHEIeT F=—T U

(d) arg e

&<

1) (a), (b)3R (c) (2) (a), (bpiR (d)
(3)  (b),(c) R (d) (4)  (a), (R (d)

frfefad # 9 vyra § g foer foxiia 9er 5 9Rde e oo e & @ifess ®7 9 Jar-ga
FHHER o G S G2 % T o g feraioor s e & 2

(1) 3ITE=rEeTe. (2) THIALI.ME.

(3) SMEHIMEH3ME, (4) ST U Q HE T

fTeiaa e 1 9ieT 3R T&l Fe H 957 HIT ;
FUA — | AT Y SN [T o (T, ST 3TE,) i T S 3TE, o 07 e &

e & & H H e |

FUT— || | THIAEI AL T ML, FRT W g I e Ty & w6 e
T E |

ETE

(1) A () T e | (2) A (Il) TEE |

(3) ()3 (I) I T | (4) (1) 3 (1) I TG E |

a9 =mR g 2015-2020%F 210 FAfiad § 9 6 idied oAl & Faid SR 3T
3T T E 2

(@) HICIhe BATLUTH (TARUIS), e

(b) TSTHIS EETETEH (TERUIS), oI

() TTHHYT SMEH I, aHeHIg

(d) TEREFT =T (TERUS), TSTe

ETE
1) (2)3R(c) (2) (2)FR(d)
(3) (b)3iR (d) (4) (c)3R (d)
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38. Assertion (A) : Under FEMA, the receiver of laundered money is to be made culpable,
instead of sender/distributor.
Reasoning (R) : FEMA differs from the earlier exchange regulation Act FERA with
regard to penalties and punishmentase of violation of the Act.
Codes:
(1) (A)is correct but (R) is not correct.
(2) (A) and (R) both are correct but (R)not the right explanation of (A).
(3) (A) and (R) both are correct and) (R the right explanation of (A).
(4) (A) and (R) both are incorrect.
39. Match the items of List — | with those ofdti— Il with regard to international monetary
fund’s various schemes : .
List—1 List — Il
a. Extended Fund Facility (EFF) I. Repayment period 4 to 10 years
b.  Stan Arrangements ii. Repayment period 3 to 5 years
c. Supplemented Reserve Fund (SRF) iii. . Repayment period 2 to 5 years
d. Poverty Reduction and Growth ivﬁ;, Repayment per*iod 10 years
Facility (PRGF) A =
Codes :
a b c d
@ i i v
(2) iv i i [
) iv i i [
4) i v i
40. Which combination of the following is comewith regard to World Trade Organization
(WTO) :
(@) WTO initiates peace process among the member countries to enhance international
trade.
(b) WTO avoids the task of “Settlentesf Disputes” among the member countries.
(c) WTO administers the “Trade Review Mechanism”.
(d) WTO cooperates in an appropriatanner with the IMF and the World Bank.
Codes :
(1) (b), (c) and (d) (2) (a)and(c)
(3) (c)and (d) (4) (a), (b) and (d)
41. Choose the code representing the correqpiesgce of steps in a merging transaction :
()  Screening and invesagion of merger proposal.
(I Approval of Central Government
(1) Approval of respective High Courts
(IV) NegotiationStage
(V) Approval of proposal by Board of Eictors, Shareholders and Creditors
Codes :
@ M- N ->Uv) >y - @@
2) M- UVv) > (V) > 1y — @
S EIWIEIUNEIVIEI)
4@ M->Uum - -3y - av)
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38. AfWem (A) : URITAT (HT) % 3T el € b U/ o S aSTT 39k Wkl i &St
ST e |
& (R) . TRAT, 399 9 & fame STEFEm W (ThE.3ARY) | Sooted o HHel H oRTe ST
et A 3R S o ey § =T ¢ |

T

(1) (A)T& g, «Afe (R) T & |

(2) (A) 3T (R) I T &, AT (R), (A) i &l =R TR € |
(3) (A) 3R (R)IF Tl €, Wih (R), (A) T W&l AR E |
(4) (A) IR (R)IA TG |

39. i Hifger iy it fafir diomneti o dea & gt — | 6l 7aT B gt — || 1 981 & 9 gAfera
HIT

et — | = — I .-

a. fawia ffu glawn e i. o ey 49109y
b. R = i, SR sl 3 W5 A
C.  3TURA SRR MY (TH. 3R T, /,aiii I 3TEYy 2/ 5 99
d. RIS ¥ FH T faeh g (WSt EE) 4 iv. 3 sty 10 9
YA

a b C d
@ i Qi i v
@) v i i
Q) v i i
@ i v i

40. fava OR Qe (=g .22 % Tay § feetad & ¥ e a1 G 98 g ?
() TGN, FRCT IR Pl Tl S o o0 TG 90 H Vel T WY Bl & |
(b) =237, TS < o AT & MU P g TEar |
() T=Y3M. “SAIR TN a’ W R0 T ¢ |
(d) T=gaT, AETATE, R fave S & T SFaa Rk o TedT HT € |

&<
(1) (b), (c)¥ (d) (2 ()7 (c)
(3) (c)3R(d) 4) (a), (bR (d)

4], U HoeEd e | fIT ST alct SHaHT o el 5 ol S arel e ol oa T
() Hfer T &l e ud SHaHA
(1)  F=T THR H STTAGA
(1) Fr=afa oo =R S STHET
(V) Qe sree
(V) el HUee, STRTal Ue oFaRT T JRTe hi Tl
T
@) (1) > (V) = (IV) = (Il = (IN)
2 - Uv) = vV)-> >y -1
B) DH— V) = Uy - (V) > ()
@@ M-y - ) ->uy - av
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42. Which of the following are the impiant features of option contracts ?
() Buyers of option have limited liability.
()  Options have high degre# risk to option-writers.
(1) Optionsareexercisale only by buyers of option.
(IV) Buyers of option havellarights which are available to equity shareholders of the
concerned companies.
Codes :
() O, m, an) (2 @, @, (m, (v)
3) (O, (), (V) 4) (0, (), (v)
43. Which of the following approaches iglagpted for the valuation of human resource
according to economic concept ?
(1) Replacement cost approach (2) Opportunity cost approach
(3) Historical cost approach (4) None of the above
44. Match the items of List —with those of List — Il ad select the correct code :
List — | List— 1L~ "
a. High levered fund I Marketfisk ~ “
b. Increasein bank rate ii. Purchaging power risk
c. Inflation ii.  Finangiakisk |
d.  Political instability iv. Interest rate fisk/
Codes :
a b c d
Q) iii [ v
2) i v
3) i v i [
(4) i i [ v
45. Which of the following are thmstruments of money market ?
(i) Callmoneymarket
(i)  Commercial bill market
(iif) Industrialsecuritieamarket
(iv) Short-term loans market
(v) Treasury bill market
Codes :
1) @), (i), (iv), (V) (2) (), (i), (v)
(3) (), (i), (i), (iv), (v) @) (), (i), (i), (iv)
46. Accounting Standard-6 is meant for
(1) Accounting for Fixed Assets X2 Accounting treatment for goodwill
(3) Depreciation Accounting (4) Bxlosure of Accounting policies
47. Which of the following is not a feature of OTCEI ?
(1) Quick transfer and disposal system
(2) Nationalised computerised networking
(3) Ringless trading system
(4) Fragmentation of regional stock exchanges
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42. Frfofad § Q9 9 A9 Gfegre & Tewage Teir € ?
(I) S shatel o Siided Ad 2iar g |
(1) S oRgehi i SH St SHREH S AET 3T ekl § |
(111)  3FTT BT FRIRT heeT ST Shal T & Tl ST Tehell & |
(IV) AT St bl o Tl SR Bl & ST fob eaivea sl o QT STRTeniar sl SueTed 8l
T
ETE
1) (), (n, () 2) (), (n, (), (v)
) 0, an, (av) @ (), (), (v)
43, 3Nk STAEROT & 3TUR AT THTE o Godich & Hetenad H 9 fhg 1A s STaemar ST & 2
(1) Wi T SIFT (2) STITT AT 3T
(3) ufterass e T (4) SwE H 9 R B
44, @—Iﬁﬂﬁﬁﬂﬁ—ll@ﬂﬁﬁﬁﬁﬁ?@ﬂﬁ?aﬂwaﬁm:
et - | 1
a. 3= 3 B i RS
b. wHIHAFS i. asam%ﬂsﬁ?@q J
c. e i J
d.  omiaes e iv. Wﬂ?sﬁﬁan \ ¥,
ETE
a b c d
@ i i i v
@ i i v i
@) i v i
@) i Qi i v
45, TFfREd § ¥ S F T SR 5 ST € 2
(i) e T TR
(i) PRt oot iR
(i) 3T=nfTR Hief ISR
(iv) STCTIA 0T ST
(v) R foet e
&<
) (@), (i), (iv), (V) 2) (), (i), (v)
3) (), (i), (i), (iv), (v) 4) (), (i), (i), (iv)
46. T HHH-6 ST T &
(1) T Fmraar o oi@ish o folg (2) T % TRITFA TR % folw
(3) T oG & forw (4) oRIR AT & FRIHOT eI
47. Frfeiad 5 | B T L3TE, B A0 T 2
(1) e e&RoT Ue fue vl (2) LT HIESE HeafH
(3) M Yed AR TE(d (4) &FET Ty Ui i fagoe
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48. Which of the following requires consumers to interpret ambiguous stimuli ?
(1) Focus group method (2) Projective techniques
(3) Rejective techniques (4) Semantic differential scales

49. Which of the following passes through the feteiges of distincteness, emulation, mass
fashion and decline ?

(1) Style (2) Fashion
(3) Fad (4) Style and Fashion

50. Which of the following positioning strategiés adopted by marketers to position their
product in two categories simultaneously ?
(1) Point of Difference (2) Point of Parity
(3) Straddle Positioning (4) Emotional Positioning

51. Statement () : Marketing is the process by whica firm profitably translates
customer needs into revenue.

Statement(ll) : Marketing is the messages and/oti@ts that causes messages and/or
actions.

Codes:

(1) (D) is correct but (1) is not correct.
(2) (1) is correct but (1) is not correct.
(3) (D) and (1) both are correct.

(4) () and (I1) both are incorrect.

52. Assertion (A) : Odd pricing aims at maximising proby making micro-adjustments in

pricing structure.

Reasoning (R) : Odd pricing refers to price ending in 1, 3, 5, 7, or 9. When examining
a price, the first digits carry meweight than the last ones.

Codes:

(1) (A)isright and (R) is wrong.

(2) (A)iswrong and (R) is right.

(3) Both (A) and (R) are right.

(4) Both (A) and (R) are wrong.

53. Name the process in which a buyer posts its interest in buying a certain quantity of item
and sellers compete for the business by submitting lower bid until there is only one seller

left.
(1) Internet (2) Reverse auction
(3) B2B market place (4) B2C market place

54. Advertising method in which an advertisem is broadcasted simultaneously on several
radio stations and / or tefsion channels is known as

(1) Black-out (2) Consolidation
(3) Road-block (4) Cornering
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48. Frefofiad o O frad Sudisaiatl S 30 JE0 Sl SR HET 2t & 2

(1) Bt wge (2) Teni e
(3) URENIH qHIH (4) 30T femigen M
49, Tr=foiad & | s a1 faferedr, wfagizan, 9 e R fRiee o IR sferee 9 TR € 2
(1) 2 W=
(3) % (4) et 31X e

50. frefeiad § & $i € ferfa wrifad faaomsmdiet gRT oo S €, aife o 30 3 @ ey St |
7T T Y ek ?
(1) FRHFg (2) THF = oy
(3) dSI-TR = et (4) T feafa

51. @ (I) . fouum U U e & e R PR W AV adds ¥ SuieRe @t
SMEYIHATS ol AT | URafdd el ¢ |
% (11) : fouuR UF G R/ R &, ST TSI 3RyAT 1 Sl HRT BT €
A
(1) () T&E, A (1) T |
(2) () & T, Al (1) T E |
() ()3 (I) I T E |
(4) (1) 3 (I1) I oI € |

52. At (A) o foum Hid-ER A 33ev, HEA-FER d9 H GeEH GHRSE aeh STy
A FAATE |
& (R) ;oo SEa-FERT ¥ a1, 3, 5, 741 9 H HiUd ®f GUI &, ST U Go T Hi
STt <l ST &, A TeeAT 37eh 3T 37eh Sl qorT | 31T YR W& € |

T

(1) (A)TETIAR(R)TTE |
(2) (A)Ted € R (R) T & |
(3) (A) AT (R)IA T |
(4) (AR (R)IA Tord & |

53. 39 WGHAT 1 AT ST, FSTEH g ohal TRI S FP AT GG H 310! B T Rl €, 3R fashar
I ST IR Hoh HRITR Sl I 5 3 {eTT T e Il T&cll & STal 11 heiel Weh Tashell Tl 3@ ST
T
(1) ek (2) i e
(3) dhd IR e (4) dE TR e

54. Taumoe % U ugiq S0 U [ B 5 e el 3T Selifaet el W U 91 WG SR
ST &, 39 Fferiad o 9 fohgeh ®9 § ST ST § 2
(1) =T33 (2) THE
(3) Us=AH (4) FHeT
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55. Which of the following is the mental condition attitude of indiviluals and groups which
determines their willingness to cooperate ?
(1) Motivation (2) Morale
(3) Excitement (4) Delight

56. Which of the following is not mvided under the Factories Act, 1948 ?

(1) The certificate of fitness is granted bgeatifying surgeon on the application of any
young person or a parent or a guardian.

(2) An adolescent who has not been granteeraficate of fitness shall be deemed to be
a child for the purpose of the act.

(3) The certificate of fitness granted menewed remains valid for a period of six
months from the date of issue.

(4) Any fee payable for the certificate of s shall be paid lyccupier and not by the
young person or his parent or guardian.

57. Arrange the following steps of developingria@iourally Anchored Rating Scales (BARS)
in the right sequence :
(a) Developingperformancalimensions
(b) Generate critical incidents
(c) Scalegheincidents
(d) Reallocate the incidents
(e) Develop the final instrument

Codes :
(1) (@), (b), (c), (d), (e) (2) (b), (a), (d), (c), (e)
() (a), (b), (d), (c), (e) (4) (a),(c), (b), (d), (e)

58. Within how much period from the close of anating year, bonus muke paid, if there is
no dispute about the payment of bonus ?
(1) Two months (2) Six months
(3) Eight months (4) Ten months

59. Which of the following statementsésrrect about Wage Boards in India ?
(@) A Wage Board is a tripartite body.
(b) Labour and management representatmesa Wage Board can be selected from
industries other than the omnich is investigated.
(c) Wage Boards are alysstatutory in nature.
(d) Wage Boards work on the principle of living wage.

Codes :
(1) (a)only (2) (b)and (c)
(3) (c)and (d) (4) (a), (b), (c) and (d)
60. Who gave the surplus value theory of wage ?
(1) David Ricardo (2) Karl Marx
(3) Adam Smith (4) F.A.Walker
61. Who gave the systems appob to industrial relations ?
(1) Beatrice Webb (2) John Dunlop
(3) Eric Trist (4) Henry Fayol
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55. Trefeiad § 9 ®F 9 il 3K 99g s qHges fefd a1 S € ST GednT o fold S g1
frifta et & 2
(1) ehpRoT (2) THEA
(3) S ICICH (4) 3"

56. TATiEd 9 9 e HREMT 2Aafam, 1948 3T Taw =@l & ?

(1) Tt g =afe o foredt ATar-fuaT o TReTeh & STesH-UF o 3MYR W JHIuTdeha v1ed-Tafhedeh
(TS) BRI TR FHTT-0 & ST & |

(2) & Rl TR ol STRITIAT SRIOT-OF el T3 ST &1 o 39 39 31iae o WaisH & fod s
O SR |

(3) STRY Tepam T A7 STleRROT foRAT AT STRAAAT THIUI-T, STRY U ST b ARG W % Wi d% 99
cell

(4) TR JEULTA & T 39 S Yok STBIE 5RT 37T TR ST, 7 o 39 g9k a1 39 -
T a1 ST 5T |

57. =R % T T Ukhg MR TH @ UARTH,) F fahiad o & Ffaniad ==om o @@ 5T J

ESRIIEL

(@) - o H fowrad AT (b) OIS geAeT S go e
(C) TR T AT (d) TR it gHeTEfed Sl

(e) AT IuHUT forepiad ST

T4

1) (a), (), (©), (), (&) (2)  (b), (a), (d), (0). (e)
3 (@), (b), (d), (c). (&) 4) (@), (c), (b), (d), (e)

58. @l 9y H FHING ¥ fohael 3Tafy o 37eT S9N JIAE 7Y R ST AT, auk fF a9 %
AN o Hee | g e T8 ?
(1) ="E (2) =EHE
(3) seHE (4) ~9TR

59. WRA ¥ o aie o Gy § Fefcifigd § 9 6 91 29 9@ § ?
(a) o I U Fmeig FeE T |
(b) o a1 H ffrept AR wEY o T B gET S SE & e @ S 9 o o
Hepell & TSeht S =T @ E |
(c) S SIS Sl TPl EH FeNfeh Bl & |
(d) 3 s aTe 7eigdl o sl W B ¢ |

&

(1) = (a) (2) (b)3R(c)

(3) (c)# (d) 4) (@), (b), (cpiR(d)
60. Frfcfed & & forga ool Sy goar fagia ot nfaare feram & 2

(1) <foe ferre (2) el A

(3) uen iy (4) UHT T
61. frfaiad o & o STt Tai st JoTelt ST it Hfqure forar & 2

(1) fogeaas (2) < Eem

J-08-16 25 Paper-Ili

www.examrace.com



62. Which among the following are multinational corporations ?
(@) A multinational, decentralized corption with strong home country presence.
(b) A global, centralized corporation thatquires cost advantage through centralized
production when cheaper resources are available.
(c) Aninternational companydhbuilds on the parent canations technalgy and R & D.
(d) A transnational enterprise that combines the (a), (b) and (c).
Codes :
(1) (a) and (b) (2) (b)and(c)
(3) (a), (b) and (c) (4) (a), (b), (c) and (d)
63. Which among the following are futhember countries of ASEAN ?
(& BruneiDarussalam (b) Cambodia
(c) Vietnam (d) Myanmar
(e) SriLanka
Codes:
(1) (a), (b) and (e) (2) (a), (b), (c) and (e)
(3) (b), (c), (d) and (e) (4) (a), (b), (c) and (d)

64. Assertion (A) : Capital Account convertibility isntroduced only sometime after the
introduction of convertibility on current account when exchange rate of
currency of a country is relatively stable.

Reasoning (R) : Capital Account convertibility isnecessary for faster growth and
development of economy and it makeign exchange rate more stable.

Codes:

(1) (A)is correct but (R) is not correct.

(2) (A) and (R) both are correct and) (R the right explanation of (A).

(3) (A) and (R) both are correct but (R)not the right explanation of (A).

(4) Both (A) and (R) are incorrect.

65. Statement (I) : WTO is only international organizati which deals with the rules of
trade between organizations.

Statement (II) : The limit of holding by individual forign institutional investors in a
company has been raised from 5 to 10% of company’s share while the
aggregate limit has been increased from 24 to 34%.

Codes:

(1) Statement (1) is correct but Statement (ll) is false.

(2) Statement (ll) is correbut Statement (1) is false.

(3) Statements (I) and (Il) both are correct.

(4) Statements (I) and (Il) both are false.

66. In case a farmer in India buys a wheat option on future :

(@) The farmer must accept a wheat futures contract and not take physical possession of
wheat.

(b) The farmer must accept delivery of the wheat at a higher price.

(c) The farmer has the right to deliveetiwvheat and will do so only if the price is
favourable.

(d) The farmer must deliver the wheat at market price.

Codes :

(1) (a)and (d) (2) (d)only

(3) (c)only (4) (b)and(c)
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62.

63.

64.

65.

66.

frafafaa 9§ 9 9 ¥ sgaeE m € 2

(a)
(b)

(c)
(d)

%<

(1)
3

agrrwﬁ?:r ﬁﬁ»—;ﬁgﬁﬁm Gﬁwaﬁ%{shﬁaqafwﬁﬁf |

SIfYereh, g T, TSFein ST THT SR SR o ATeAT § SIRTT o i foRa &, s/
T G ST A |

TS SRS HO, ST Ge FRTT i HRifiTeh 31X 31 U S o 3ER W) Hibd & |

RS 3T, Gﬁwjaa(a) (b) 3T (C) T HASH Hd & |

(@)# (b) (2) (b)3iR (c)
(a),(b) 3R (c) 4) (@), (b), (cFiR (d)

frfefad 9 ¥ ®F ¥ TraTeT (ASEAN) & 07 T8 397 € 2

(a)
(c)
(e)

&6

(1)
®3)

! REAH (b) e
g™ (d) =MR
ot et

(@), (b)3iR (e) (2) (@), (b), (¥R (e)
(b), (c), (AR (e) 4 (@), (b), (cHr (d)

AHTT (A) ;IS o T gRERIeTT, 96l o T IREdRIerdT o $TRY & 918 559 99

T & SR ol T, ST Rl < o R o Tl 9 e B9 9 R A €

& (R) : USIT oRg Wl IRERHRIc Seae & st | ﬁ?ﬁer?m%ﬁq

%<

(1)
(2)
(3
(4)

ST Bt & IR T FeReh T 9 & S feR B

(A) &I &, Wi (R) T & |

(A) 3R (R) 3T W&l & 31X (R), (A) i T& A € |

(A) 3T (R) 31 Tl &, Wi (R), (A) 1 Tl = e ¢ |
(A) 3T (R) THT Toid € |

He (1) = 2 s R R ol e o e i i e e e e

FATE |

Fer (11) ;TR SO W Toeelt ST ATl SR SR SR 6 W1 6 ST o 379 6 5

%< !

(1)
(2)
3
(4)

TfRTd ¥ SRt 10 Tt R fam T & | Salfeh Uehidd QT i 24 iR &
FETHT 34 TSI Y T T & |

o (1) T &, ek e (1) T €
F (I1) T &, A o (1) T € |
e (1) 3R (1) I &t E |
e (1) 3R (Il) I T E

I YR | Ueh T WEX W U 118 fehed TRedm €

(a)
(b)
(c)
(d)

%<

(1)
®3)

J-08-16

g I WiTcTeh M o T TR 50T i 3k el Gt bl T BT & |
Tha T o Tod W T o GO o & |

TS ol Ti& ST STGTERTT BT SRR &, ST o ShiTa SFHeT & |

T 71 T ISR Tod W ST |

(a) R (d) (2) =H (d)
7 (C) (4) (b) R (c)
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67. Sector specific policy of government of India in case of B2B is when
(1) FDlis upto 100%
(2) FDIis upto 49%
(3) FDIis upto 100% subject to condition thia¢ investment in favour of Indian public
to the tune of 20% within 5 years to be done.

(4) FDlis upto 100% subject to condition tlia¢ investment in favour of Indian public
to the tune of 26% within 10 years to be done.

68. Statement!| : In India a “copyright” of an unpubleed book can be registéred under
copyright Act of India.
Statement Il :  Once granted by the European Patéfiice, the proprietor has a patent

which is effective in all contractin states of the patent cooperation
treaty and the agreement on thed# related aspects of IPR.

Codes:

(1) Statement (I) is correct and (Il) is false.
(2) Statement (Il) is correct and (1) is false.
(3) Statements (1) and (ll) both are correct.
(4) Statements (I) and (Il) both are false.

69. As per the Income Tax Act, 1961 for the assessment year 2015-16, a deduction u/s 80
QQB for authors of books of literacy, artistic scientific nature is allowed upto

(1) % 1,00,000 (2) % 2,00,000
(3) % 2,40,000 (4) % 3,00,000

70. Gratuity received by a government employee is
(1) exempted uptd 3,50,000 (2) exempted uptal0,00,000
(3) fully exempted (4) fully taxable

71. Match the items of the Listwith those of the List — Il and indicate the correct code :

List— | List — Il
a.  Residential- status of i. Section 10 (13A)
an individual
b.  Agricultural income ii.  Section 10 (10)
C. House rent allowance iii. Section 6
d.  Gratuity, iv.  Section 10 (1)
Codes :
a b c d
@ i i v
(2) iii v [ i
(3) i [ i v
4) iv i [ iii
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67. & % gmel § YA R i & fafufte ifq € st

(1)
)
®3)

(4)

68. HUA |

HYUA |l

YA

(1)
(2)
®3)
(4)

100 ST ook T3S, &l |
49 FiATTd e UHS1.3TE, & |

100 W91 T TRl 3TE, 991d {oh 5 a9 o 38T 20 W9 & &9 H YRAT ST & 97 § e

R S |

100 Hf9Td ek U 1.3TE,, 991 o6 10 99 & 31T 26 W9 & ¥ 9 YRAIT ST & 987 § Faer

IERIRs el

Ot fohaT ST Tl & |

IR | Rl SR Todeh o “SHURTge” o YRAIT HAREe ST & 37
RN Yo FATT R Tk IR FRH fohT STH WX, T bl UHT e et STt &, i

UeT FeanT WY o Wit Wesmehdl TSEl SR ARSI, % AR Gl Teeeh o
Tt R H T BT § |

T (1) TE & 3R F=H (1) T § |
T (1) & g R F=H (1) T & |

o (1) 2R (1) T T E |
e (1) 3T (1) IHT T € |

69. 3R AHUFIH, 1961 o MR W FER0T 99 2015-16% [T Aifeicdsh, shellcieh AT A TTa hi

AT S G B R 80 QQBH ST STTHT Heldll & :
(2) % 2,00,000
(4) % 3,00,000

(1)
®3)

% 1,00,000
% 2,40,000

70. U WHR HHAR! FRT A ST (=) € -

(1)
®3)

a.

b.
C.
g

YA

(=N

(1)
(@)
3)
(4)

J-08-16

% 3,50,0000% X TR & |
T Y G & |

el |
U A, W FedE
FY AT | i
TR TR v ii.
"Eﬁ?ﬂ\a | iv
a b C d
S (T TR
i ivo0 i

ii i i v
v i T

(2) % 10,00,0007% F g & |
(4) TEIATTE |

71. e — | S AR g — || R W e ST U W e S ST i

= - |l
RT 10 (13A)

oRT 10 (10)

41T 6
w1 10 (1)
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72. Match the items of the List — | with &ii — Il and indicate the correct code :

List— 1| List—1I
a. House rent allowance I. A deduction from income
b. Casual income ii. A step taken by tax authorities
c. Collection charges of iii. Taxable income

interest on securities
d. Bestjudgement assessment v. i Partly taxable allowance

Codes :

a b C d
@ iv i i i
2) iv i [ ii
3) i v [ i
@ i v [ iii

73. The statutory limit for deduction u/s 80 GG of Income tax Act, 1961, for the assessment
year 2015-16 is

(1) 2,000 per month (2) ¥ 3,000 per month
(3) ¥ 2,500 per month (4) ¥ 5,000 per month

74. For the purpose of assessment under Income Tax Act, 1961, which combination of the
following represent income ?

() Tax-free salary from the private sector employer.
(I Pin money received by a family member.

(1)  Awardsreceivedby the sports persons.

(IV) Loss incurred by the assessee.

(V) Perquisites received by employees.

Codes :
Q) (), (n, (1, (1v) (2) (), (1), (IV), (V)
) (M), (m, (v), (V) 4) (), (1, (v), (V)

75. Indicate the correct code for forms for filing income tax return from the following Income
Tax Return Forms :

(@ ITR-4S
(b) ITR-2
(c) ITR-2B
(d) ITR-3
Codes :
(1) (a), (b)and (c) (2) (b), (c) and (d)
(3) (&), (b) and (d) (4) (&), (c)and (d)
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72, A — | % TR R GE — || R H HAH HifT Te el e ST it
= - | = - I
a. M TR v i o7 Y S HAA
b. THEE T i, Y ST §RT ST T e H
Fiofodl W & & T SR i, A o
ASIES
d. Ay Fom Fewe iv. 79I AT W
ETE
a b C d
@ iv i i i
(2 iv i i
Q) i v i
(4 i ivoi i
73. @aﬂ;?aﬁﬁm 1961 = gRT 80 GG % 3T=IId & FERT a9 2015-167 feTw et sl Jete
(1) wieEE T 2,000 (2) wim® T 3,000
(3) wRmE T 2,500 (4) ¥fmE % 5,000
74. IH AUFEH, 1961 SR FETREad B I i A1 GAS 3T ol i & ?
(1) Tt & o FremeT & o o e dad
(1) UF URER % G l A eb JUTSH
(1) TEenfear gRT ATt Rae:
(IV) SRETT §RT 32 TE &1 |
(V) i §RT A 3T |
ETE
) (), (), (), (v) 2) (n, (m, (v), (v)
) (), (1), V), (V) 4) (1), (), (Iv), (V)
75. frfetad e faerot (W) medt 3§ § W Wt o GaH e i R i
(@) M AR-4TH
(b) TR R-2
(c) oMEIIW-2
(d) omdem-3
ETE
1) (a), (b)3R (c) (2) (b), (c)iR (d)
(3) (a)(b) R (d) (4) (a), (c)ir (d)
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